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Instruction: _

(i) There are in all 30 questions in this question paper. All questions are

compulsory. .
{1} Marks allocated to every question are indicated aga_inét it.
(iii) Question No. 1 is muttiple choice type question. Question Nos, 2 to 6 are
of one mark each, Question Nos, 7 to 15 are of two marks each.
Question Nos, 16 to 24 are

* of three marks each. Question Nos. 25 to
30 are of four marks each. | i

1. THY & 9ls | 5

‘ﬁiﬁ'ﬂﬁﬁ'ﬁﬂﬁﬁmﬁél aﬁ%asmmmgﬁﬁaqﬂ
ferRad- ' . ‘ . 1x6=6
Four aptions are given in each part of this question. Write the correct answer in
YOur answer hogk- | |

(&) Emﬁaqqam%maﬁﬁmaﬂémﬁl §9 TeTa a7 pH A W¥aq: Bmr-
A solution turns red | |

itmus to blue. Its pH-valye

i . iIs likely to be- -
Giy 7 (f.) X
- (iv) 1 0
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() ferars ot oy remafies oot &
The chemical formula of Bieaching powder is-
(M caco, (i)  CcaoCl,
(i) Ca(oH), . (iv) f;aO
A fafa o v & o -
~ The speed of light in vacuum is- .
(i) 3%10% nys b | (i) ~ 3x10' m/s

(i) 331 m/s . " (iv) 2x10% m/s
(a) mﬁz%ﬁ@mﬁmmﬁm,aﬁmmﬁméaﬁ?aﬁ%ﬂﬁ?ﬁ_
s
() SRR (i) SEHH

() wEeitga i ' (iv) ©Raeas 3

The breakdown of Pyruvate to give carbon- d|ox|de water and energy takes

place in- _
(i) cytoplasm . E {iiy nﬁcIEUs
(i) mitochendria . (iv) chioroplast
(5) fogm ofiRra 1 5.1 v & - .
O | o Gy wEmR
(iy AT | O (iv) R
The 5.1. unit of electric¢ resistance is- | ‘
(i) Ohm _ ) ' (i)  Ampere
. (i) Vot | | (v) Ohm-metre
() ﬁmﬁ%ﬂqﬁﬂﬂqﬁﬁmaﬁwﬁ%ﬁﬂw@rgﬁaﬂﬁ?&ﬂmaﬂﬁg |
() PR i) RGN
(i) s | (iv) smfr

Which of the following gas shrelds the surface of earth from Ultraviolet
radiations from the sun< '

£i) Fluorine . (ii}  Nitrogen

(i} Ozone {lv) Ammonia.
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10.

11.

. (@) st Rrdzw e o g gl

Rfreena sifsar @& ve Faexor RN -
1

Give an example of double displacement reaction

o Tielid 49T &Y T 54T 25 [ #1 5 Wi gl agr ey {

The radius of curvature of a spherical mirror Is 25 cm. What will be its focal

length? .
e 3 Bt & gt o e Al f

Mention any two methods of contraception.

qmﬁﬂ@aiﬁ'ﬂm{ﬁia}mmﬁﬁmﬁé? . !

why don't two magnetic field lines intersect each other?

aamwmmmﬁmﬂuwaﬁamwmmf -

Give one example each of biodegradable and non-biodegradable substances-

"ﬁmﬁmgﬁ%mwmﬁf@ﬁmmﬁmﬁ

e Hw IR
Fagdl ‘ 2
Write an equation to show the reaction of Plaster of Paris with water and give Iits
two uses also. '
P e a:hamf't aa’mg%?rﬁ%m 1+1=2
Balance the following chemical equatlons-

(®) Fe+H,0-Fe,0,+H, (@) NaOH+ H,SO,,—a»Na,SO,H-I_ZO

RO 9T R 3 Wmaﬁﬁiﬁl 2

Differentiate between Se!f—polrmatlon and Cross polilnation-

T & ures § 7R S a9 gAs 2 2
What is the role of saliva in the dugestion of food?

(@) mmmmﬁﬁaﬁaﬁﬁﬁaﬁmaﬁammmm?r 1

W
rite the name of tissue which transport water and minerals in plants.
1

Sh
OW binary fission In Amoeba onfy by fi rgure

233 (HOI)
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13.

14,

15.

15,

QY faRpa et % gy 60W, 240V e 40w, 240V Fiad 8| 379 9 [SH@! Tog Aos
BT 1o Ry 2

There are two cfectric bulbs marked 60W, 240V and 40W, 240V respeactively.

Which one of them has higher resistance? Calculate.

{®) 30 &1 Fram o '
What is Chm's Law?

(@) R o afior-aver R ffidy) 1
State Fleming's right-hand rule.

RO & e % fyam Refay| 2

Write laws of refraction of light,

ﬁmﬁmﬁmmﬁwﬁma@?aﬁﬁrm%ﬁaﬁj 2

Why should we conserve forests and wildlife? Write any two reasons.

ﬂﬂﬁ?xﬁ%y&immm'mﬁmﬁﬁl .
The two elements x and y have atomic nos. 12 and 17 respectively.

(&) xﬂmyﬁﬁﬁ?@ﬁaimm%%ﬁl

Write the electronic configuraticn of x and Y.
() x T2 y anaq @RofY F sef R 37 _
Where the elements x and Y are placed in periodic table? .
(M 3 B g AN B g &> o
| Which is metal and which is non-metal in these-elements?
. 3T (OR)
mqﬁaaméwﬁwﬂ%ﬁmaﬁmﬁﬁmﬁw&wﬁwaﬂ?ml 3

Compare and Contrast the arrangement of elements in Mendeleev's Periodic

'l"able and the Modern Perlodic Table.

233 (HoI) [4)
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) RSN 3der 3 A Tt A 87 WA B gough Rig g g A 2
What do you understand by covalent bonds? Give electron dot structure
for methane.

(@) FrafHs dtfiel o Tomie 3o ai dar &7 1

Why do ionic compounds have high melting points?

:m.(m}EﬁtﬁSMQHTEmWWﬂﬁmsﬁmfﬁﬁmqmﬁaﬁﬁél 1
- Give an example of a nen-mental which is a liquid at room temperature.
(<) IwEEE siRe T e &7 & pwgendl siewsgel @1 ARV Aot 2

What are amphoteric oxides? Give two examples of amphoteric oxides.

19. sifire = @Y antan e ST & a9 ATy &2 g

productlon aver asexual reproduction?

3

What are the advantages of sexual re

Explain.

20. aﬂﬁqﬁamﬂmmaaﬁa%ﬁmmﬁﬂwwmﬁﬁmﬁﬁﬁammaﬁaﬁ?i

1%4+1%2=3

Draw a neat and clean duagram_.of.Human excretcry system and label the

following parts in it- '

(i) 9B - (u) 'ﬂ?lal %ﬁl | (m} E_EHETZI

Kidney : Ureter Urinary bladder

Jdn (OR)
mma@mzmaﬁaamqmﬁﬁmﬂﬁmaﬁﬁﬁmﬁﬁﬁaﬁﬁhﬁﬂﬂ%&
i 1%241v2=3

Draw a neat and ciean sectional view of 'Human Heart' and show the following
partsin ]t- " '
() wemE | (m gl anfere (i) ardf frera

Aorta . . | Right atrium Left ventricle

2L{m)mmw#ﬁmmmmé?mﬁﬁﬁ#ﬁﬁm%maﬂﬂﬁmﬁm?ﬁhﬂmﬁﬁaﬁl 2

What is Photosynthesis? Write chemical equation of Photosynthesis
process, . .

233 (HOI) _ , [5] - [ P.T.O-



(@) Usew 7 87 Uew &1 3 v o efkad|

What are Enzymes? Write any one function of Enzyme.

22. “fowga Ay mwﬁﬁmmmﬁmwaﬁﬁlﬁmﬂ' 3

Iabelled
Explain the principle and working of 'Electric Motor” by drawing its

-diagram,
34l (OR)
uaaéésaﬁqzsvaansoo mA aifs 21 5 B - C14+141=3
A torch bulb is rated 5V and 500 rnA Calculate—
() T A
' Power of bulb
(@) T & whRe

Resistahce of bulb
(M) 2 Hel SR W 9o gRT JYHH Eﬁ'ﬁ

Energy consumed by bulb when it is Ilghted for 2 hours

23, 439 oy g, 209, qﬂmag&arﬁm?ﬁrr-@raoéﬁr a%‘rgﬂwm"ra*l E‘mm -
'aqerar@m%%@a?rﬁfaﬁ-r nqs%ammama%ﬁl 3
An object 4 cm in length'is placed at a distance of 30 cm, Frorn the convex lens
of focal length 20 crn Fmd the position, natu re and size of the image formed by
the lens. https://www.ukboardonline.com

24, wikee ¥ a7 T FE #P T T WA B i A

3
What do you mean by Ecosystém?’ Describe its'major components. -
25. (&) %mwwmﬁﬁq@m%mﬁaaﬂi%mméa 5
] Why the cil and fat contalning food items are flushed with nitrogen?.
() E@meﬁmﬁmﬂ%aml y

Descnbe Neutrallsation reactian with example
ST?JEII (ORJ_ .
(Tﬁ) mqﬁammﬁm%%msnaﬁﬁzuﬁmaﬁﬂaw%ﬁam

- Write the name of elements present in ﬁrst ]JEr'IDd
233 (HDI) [ 6]
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(@) T & o HIRE] & = felaen 1
Write the name of twa allotropes of carbon.

M) wian g o B & ¥ X gale gl <@ A 8

Why is Sodium metal kept Immersed In Keresene oil?
1

(a1) wfegar St @ar &

What is the Reactivity Series?

26. (@) a0 S & 5 (dsaer AR T R

What happens when (write only chemical equation}-

(i) mﬁ@mﬁg@mﬁgﬁwﬂvwnﬁmﬁ#l
Zinc is heated with Sedium hgdroxide solution.
- (i) HfEem aEEEre-(ATET B &y R4 e e €1
Sodium bicarbonate (Baking Soda} IS heated.
lﬁ]ﬁﬁsﬁ{%ﬂﬁwmmﬁ?wmmmﬁﬂl 2

what do you understand by Redox reaction? Explain with

27. (&) mﬁ.ﬁﬁﬁwﬁamﬁﬁm%?

d determtned r human beings?

e B

in reproduction? Clarify.

How is the seX of chil

(@) SLEALE gﬁrgs%asrgaﬁﬁmméa
What is the importance of DNA copying

2. %@qﬁﬁm#mmé?%wﬂﬁLmﬂmfﬁmﬁ$aﬂﬂwﬁﬁﬂ
_4ﬂ%lsﬁrwﬁ$ﬁﬂ%3ﬂﬁﬂﬂwﬁfmwm,%mﬁ%m€ = T 2A%‘$

given material having tength L

stivity? A wire c_:f a
of 4 0. What would be the

has a resistance
e same. material having length % and area of

What is meant by alectrical res|
and area of cross-section A
resistance of another wire of th
cross-section 2A?

m(oﬂ)
20, 308m 6 E%Waﬂﬁmmmﬁﬁﬂaﬂﬁﬁﬁmaﬂ wfcRer
(i) 402 iy mngf?wméﬁgumﬂﬁﬁmﬁ! ¥ 4

20, 30 and 60 be conpected to give a

How can thr‘ﬂe resistors Df rESIEtanCES
10? Show with diagram giving

total resistance of (i} 4% (ii)
necessary Calculation,
233 (HOI) [7] [ P.T.O
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(&)

()

30._{®)

L ('@');

(@)

(=)

233 (HOL)

write the formula and SI unit of power of lens.
@GR’ F HBd T 71 @] Edl 82 !

Why ‘danger’ signals are red in colcur?

O TR <O g Rl g 1 Ak e qert 3 fof RRoT IR A
Saf- - o
(i) o, 09 & ¢ (P) T FIH (F) & T &l

(i) a5, TUOT & Tl B (C) T DI (F) F &d 8 _,

Draw ray diagram to show.the ima'ge formation of an object by a
concave mirror, when the- |

(i) object is in between pole (P) and focus (F) of the mirror.

(i) object is in betweén centre’ of curvature (C) and focus (F) of the
. MIrFor. o ' ' |

a% gter a9 & T Eﬂﬂx &7 THRE - 2
What are. the advantages te bmlt blg dams‘? Explain.
mam&mwmmasra-awﬁam| 2

Mentlon the name of any four 'R" to save the environment.

SﬁlﬁT (OR)

':ﬁﬂﬁﬂmﬂ#%m@E(ﬁaﬁgﬂfwmmaﬁaﬁwép 5 "

Wwhy do we need to use our resources carefully?
mﬂmaﬁam“ﬂr%? Elifﬁﬁlaﬁmgzﬁ?

What is Ganga Actton Plan? In whlch year it was launched?

:k‘#***
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